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	Please learn the following Times Tables  
	Please answer the following questions using short division, watch out there could be remainders.  
7458 ÷ 4 = 

3564 ÷ 5 =

4576 ÷ 6=

7532 ÷ 7= 


	One weekend, 2,576 go to watch a football team play. The next match, 981 people come to watch them, with a further 12,862 people watching their next game. How many people watched them in total over the 3 games?


	Please answer the following questions. 

9/11 + 2/11 = 
½ + ½ =  
¾ + ¼ =
12/24 – 9/24 



	A man has £4,245. He spends £182.50 on tickets for the theatre and £25.75 on drinks and snacks. How much money does he have left?
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